What do we need +o do to 4ell if two projective planes wre the same
05 Incident Shuctures?

%urrin% the ceak projechive plane In two incarnodion !

“TWo  presentotions of the real projeckive plang
|- Cortesion plane. & “line ok inﬁnilr\(j‘
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Q..Us‘mtj plones erwgk the orij'm as lines" and lu'nis Jr’nrou\ak the on'gfr\ a5 “ points'
v
normol veetors  Co,b,cd Cnot olt 0)  direchon vechors (x,u,Z) (not ol 0)
Incidence s Sivw b\‘j Ca,b,C] (x\j,z\ =) (ax HOB ¥ C3=0
(A#0)
One odd feah)r‘t’, ST We mUH\'PM the coordinates of o Poifﬁ' or line l\ny non- Zero
onstant it’s the Seme Pofﬂ]’ or ling.

We  cloaim these are the seme  Struchure oS far as incidenCe 5 concecned.
What do we need 4o do fo cCheck his!
L e need a -1 onto correspondence between the points in each presentufion | and

o [ onto correspondence between the lines in euch one, ond i+ Should
“pregerve incidence .

We'll start with the first presentation oand establish o correspondence with
the  second.
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